a(0 @) (rad)

e

1072

L T TTTTT

2
w

iy
TTT T[T TTT

0.5 : ’
=3

-2 -1 0 1 2 3
TP n (PCA to beamline)

a(d cot(d))

1072

o
1o
W

-1

é’ 1 B
0 1 2 3
TP n (PCA to beamline)

—=#— DQM_CKF_TT_base

—— DQM_mKFit_TT_base

SICEWATL

e
10"t it e R e
lM 1: ] -l"i--
o {1 get
010—2||||I||||I||||i||||I||||I||||
g ot H T
24 E ] ] i i b
0.5l |- AL Y T
Lt
-3 -2 -1

0 1 2 3
TP n (PCA to beamline)

=

-~
- e e
o L o
- L
o .
Q B ) EE
= y N H
© : : 14
Bilk!iia HImES e
- b L} - B
N | L
- : : I
1 : :
! bl 1 !
! b q
! 4 ¥
—1 | ] - b £l r
10 . 4] 4] Y[ 28 N A i L
L LM
| | AR | |

G| O B |

Ratio

iy

0.51-

(ot RANRARTARARRN A
—t—
— . E
= . . E
— . F
= : T E
p——r—
B

] ] i ok [ TEE i
-2 -1 0 1 2 3
TP n (PCA to beamline)

z

oo a,) (cm)

Ratio

107}

1072

15

iy

0.5

il

[ uaypanss

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


